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\usepackage{pstricks}

\usepackage{pst-blur}
\usepackage{multido}

\pagestyle{empty}

\makeatletter

\def\pstCPU{\pst@object{pstCPU}}

\def\pstCPUQi (#1)#2{{), #1: lower left #2: text
\psset{framearc=0.2,linecolor=gray,fillcolor=gray,fillstyle=solid}Vdefault
\begin@ClosedObj
\rput [1b] (#1){%

\psframe(1.4,1.6)
{ \psset{shadow=false}
\multirput [1b] (0,0) (0,0.3){5}{\psline[linewidth=4pt] (-0.2,0.2)(1.6,0.2)}}
\psframe [shadow=false] (1.4,1.6)
\rput(0.7,1.4){\footnotesize\bfseries\textsf{CPU#2}}}
\end@ClosedObj}%
\ignorespaces’,
}

\makeatother
\begin{document}

\begin{pspicture}(0,0) (4,3)
\multido{\rA=0+2,\iB=0+1}{2}{\pstCPU[fillcolor=red!50] (\rA,2){-\iB}}
\psset{shadow=true,blur=true,shadowsize=10pt}
\pstCPU[fillcolor=blue!20,blurradius=5pt,linecolor=black] (0,0){-X3}
\pstCPU[linecolor=black,blurradius=5pt] (2,0) {-XX}

\end{pspicture}



